Honors Advanced Algebra 2 with Trig

Chapter 7.4-7.6 Pretest
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Show all of your work. Read the directions carefully. No calculator unless otherwise stated.
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2 /1’ Given cos 20 =—% and 20 terminates in quadrant II, use trigonometric identities to
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4. Write 6sin40°sin 15° as the sum or difference of two functions.
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5. Write cos 30 + cos 70 as a product of two functions.
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& 6. Use a half-angle identity to find sin 165°
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7. Given cos =

=3 and 0° <0 <90°. Find sin26.
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9. Verify the following identity:
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10. Find the exact value of y= sin_l(‘/—f)
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11. Find the exact value of 8 = arccos (- “vz)
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12. Find the exact value of y = arctan(— v3)
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13. With a calculator, solve arccos 0.7619413.
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15. Using identities, evaluate sin (arctan 2 —arccos 2
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19. Solve cos 2x







